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@ x+(x+1)+(x+2)=57
@ (x-1)+x+(x+1)=57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x+(x+2)+ (x+4) =57
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D 20x+x=10x+x—-18
@ 2x+x=10x+2x+18
® 20x+ x = 10x + 2x + 18

@ 10x+x+18=x+10

® 104+x+2x=x+18+2x
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@ 2700 — x = 4000 — x

@® 2700 — x = 2 x 2000

2(2000 — x)

@ 2700 — x

® 2700 — x = 2000 — x

® 2700 — 2x = 2000 — 2x
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@ 4000 + 1000x = 10000 + 500x
@ 4000x + 1000 = 10000x + 500

® 4000x + 1000x = 10000x + 500x
@ (4000 + 1000)x = (10000 + 500)x

® 4000 + 10000 = x



247} 49 442 6 AFEM 7}A T 9}, Fo] BAYoA
ol 7k A o] 57t FAo] 747l AL e =0

Aol 2 272 Folof a7}

=

© 4 2= @ 5 A= B 6 A=

@ 12 2 ® 36 AF



10.

x B SIS AV piro] Sl Gk, AW 4 ARH L
FW 12 427 o, 5 AR o] 39 3 A%t Baetkn
g o, AW o| Agof that Aoz dgre Re)

@ 4x-12=5x+3 @ 4x+12=5x-3

® -4x-12=-5x-3 @ -4x+12=-5x-3

® —4x+12=5x-3
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